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Is there any alternative optimal policy?
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A comparable model
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The key departure:

The central bank chooses a monetary pollcy;ee
utility of the representative household. |



Result

Whether or not in a fiscally dominant regime it is optimal to delay 1nﬂat10
Issuing debt depends on the expected path of fiscal deficits. ~

_:'55;//'7



Intuition

« Inflation represents a distortion.

entire current fiscal deficit but
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for the inflation tax.



The Model
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Competitive Equilibrium
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Definition 1 (Competitive Equilibrium) A competitive equilibrium is an initial price
level Py and a time path of nominal interest rates {i,} satisfying equation (12), given the

initial level of nominal government liabilities Bo+ My and the time path of real primary fiscal

deficits {1, }.




Ramsey Optimal Central Bank Policy
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Definition 2 (Ramsey Optimal Equilibrium) A Ramsey optimal equilibrium is a path
for the nominal interest rate {i;} that mazimizes the indirect utility function (15) subject to
the intertemporal constraint (12), given the initial level of real government liabilities (B +

My)/ Py and the path of primary fiscal deficits {1} .
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Optimal Public Debt Dynamics

The government flow budget constraint: b, = pb, + 7, — TM*,

Decreasing path for budget deficit: 7, = —07,

) > f)t = pb; + Toe %t — T'm®,
*m* O s
by = — e
2 > " p pH0



A Numerical Hlustration

percent of GDP

Figure 1: Ramsey Optimal Debt Dynamics
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A Numerical Hlustration

Ramsey Optimal Long-Run Debt, Inflation, and Seignorage as Revenue Functions of the
Initial Level and Half Life of the Primary Fiscal Deficit

Half  Initial Long-run Inflation Seignorage
Life of Deficit Debt Rate Revenue

Deficit 70 bg * T*m*
2.00 4.00 37.03 4.91 0.59
2.00 5.00 39.67 5.48 0.65
2.00 6.00 42.30 6.05 0.72
3.00 4.00 40.35 5.95 0.71
3.00 5.00 43.80) 6.80 0.80
3.00 6.00 47.24 7.65 0.89
4.00 4.00 42.54 6.96 0.82
4.00 5.00 46.52 8.07 0.93

4.00 6.00 50.49 9.19 1.05




Optimal Policy Versus Full Monetization

setting w, = 0 , we can rewrite the central bank’s flow budget constraint as:

i:L(ir,y) = 7oe " + (p — g)wo.
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Optimal Policy Versus Full Monetization
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